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Department of Civil Engineering
CIE 485 — Construction Management
TEST 2 — Spring 2010
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ID #

| NOTES:

The exam is closed book and notes
Assume any missing information that is necessary
Questions have weights as indicated
Do not unstaple the exam booklet
Exam booklet consists of 13 pages
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Problem II (7%)

A contractor files a claim asking the owner for time extension and cost compensation due
to a delay in one of its project tasks. Two separate factors contributed to that delay:

1) Severe weather conditions.
2) Another preceding contractor who was working in the same area left without
cleaning up the site from all the debris, waste materials, and obsolete construction

tools. The current contractor ended up perfomini:hg clean up process to be able
to start his own work. — -.-v.f.wew.y- o)

Classify this delay type and discuss accordingly whether you, being the Owner, will
provide the contractor with an extension of time, cost compensation, both or none.
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Problem ITI (35%)

A small PERT network is shown below. The expected value (m) and the variance (c2) of

the duration of each activity (i,j) have been calculated for you and are shown on the
network:

{ )0 1. Compute TE;, TL;, and ES; for all events.
(C 2. Compute ATS;;, and AFS;; for all activities,
1233, Identify the critical path of this project.
(} 2. )4 Determine the probability that this project will finish in less than 61 days.
(u . P The estimated net profit from this project if completed within its expected
duration is equal to $750,000. If the contractor exceeds the expected duration, he
has to pay a lumpsum liquidated damages equal to $900,000. Find the expected

profit for the contractor and advise him whether he should bid on this project or
not.
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Problem IV (15%)

The target network for a project has duration of 10 months at a budget of 100,000 §. The
following information is available as of data date = 5 months: The project is 1 month

C — behind schedule but has cost savings of 10,0008.
Draw st vs. Time graph showing the BCWS, ACWP, and BCWP, and the Cost and

‘o gfglucgul ariances. Label all elements of the graph clearly. s Lk bl
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Problem V (15%)

Data for a small project are given below. The initial starting date, or base date, is zero and
the data date is 20. All activities except F, G, H, K, and L have been completed. Activity

F has four days left. Activity G has five days left. Activity L has been reduced by one day
and Activities H and K remain unchanged.

Activity Duration Depends On
A 9 -

B 5 A

C 2 A

D 7 A

E 1 B,C

F 8 B,C, D
G 6 D

H 1 E-F, G
K 3 E.F.G
L 8 H, K

(a) Draw the network showing all completed and in-progress activities up to the data
date showing the start and finish dates of activities.

(b) Draw the Updated network (after Data date) for the project showing the new start
date and finish dates of the activities, the new project duration, and the new
critical path.
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